AglaSem Careers

TEST _'1 : GENERAL’ INTELLIGENCE ‘& REASONING

1. How many triangles are there in the figure ? 4. If a mirror is placed on the line MN, then
' - which of the answer figures is the right
image of the given figure ?

Question figure
™M

AT B) 10 (C) 16 (D) 20

2. Find the number of minimum straight lines | ' "“;H 1 Y_]'__\T ' Yﬁ ) '[5
required to make figure. '
A - B ©) ®) .

. 5. A word is represented by omly ome set of
’ . numbers as given in any ome of the alter-
" natives. The sets of numbers givem in the
.. . alternatives are represented by two classes of,/
| alphabets as in two miatrices givem below.
‘The columns and rows of Matrix I are-
_ S5 numbered from O to 4 and that of Matrix II
A : ‘are numbered from S to 9. A letter from
- (A) 13 ® 17 () 15 D) 19 these matrices can be represented first by its
: ~ ’ ) row and next by its column, e.g., ‘M‘ can be-
o . = - represented by 01, 14 etc., and S’ be
3. Write the number of space enclosed by represented by 58, 77 etc. Similarly, you have
. rectangle and circle but not by triangle. to identify the set for the word “‘ROHAN’.
Matrix I Matrix I
3
s
G
D

E
T

»lEm ] G ml

Q| O|»>|Qjw|e

@ mlo]&|ole

o w|of 4] »]w

IR BB

< M| < =| X~

&uN_-@
€< x| 2| E| 2

waﬂpm

(A) 11, 57, 00, 55, 12
3) 11, 75, 00, 55, 10
: (C) 32, 75, 21, 55, 10
A) 3 ®B) 2 o 1 D) 4 (D) 32, 67, 41, 55, 12

SPACE FOR ROUGH WORK -

'@,OHP'”_ wo 3*
. 0

e
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AglaSem Careers

1. IFfy | o e B € 7 C o 4 AR T odw R MN T R T s A A IR

gt # 4 - suFhy v sty H wd
whifem gnft - :
M
, | .
A) 7 ‘B 10 (C) 16 (D) 20 T kRt
2‘.%&%33@%3%3?%%%11#’[&13@3# : Nl _
‘ - | ) ®) ©) D)

’ 5. OF U= Fad Uh GEAT-8HE gRT quitar T 2,
Sar 5 fepeat § @ et w3 fur mr 2
- i 3 R T vem-wg e & @ it gy
@ﬁqmﬁ,ﬁmﬁﬁﬁ%ﬁqwﬁaﬂéﬁ%l
- TR 1% Tt ok it it senod 43 g

R AR IR TS A 9| T =@t ¥ v s
1 T 5@ 1 9w ok AT § G g

@ 13 ® 17 © 15 © 19 | culwmoow wwdw 2 sewm & B e w
- : ‘ 1 - 01,14 3ly gRy <uifan s @=par Faar @y
3. = F get s e s ok g 9w 58, 77 snfe g1 gufar o @ ¥ | <@ e A
@%%ﬁl‘gﬂ#ﬁaﬁ%l = mmﬁﬁqal?q"ROHAN’%ﬁ—rgwaﬁ
o | TEHAT § |
| ‘ AT 1 =g 11
oJi]z]3]4¢ Ts]e[7[8]9
C(HIM{X|W|K S{A|D|E|S|B
[N[R|N] Y™ s{T]u]olG]q
) 2]KjViH|P|W 7|0iQiSiDJA
l_ JIY|Z|R|M|N 8!S/E|UJE|D
4IWIVIH|J P 9IQ[BJA|TIO
(A) 11, 57, 00, 55, 12

" (B) 11, 75, 00, 55, 10
_ (Cy 32, 75, 21, 55, 10
(A) 3 @ 2. ©O1 D) 4 (D) 32, 67, 41, 55, 12
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AglaSem Careers

6. In the given figure, the circle -stands for 9 W}uch -answer figure will compléte the

_ intelligent; square for hardworking, triangle 7 pattern- in the question figure 9
for Post graduate and the rectangle for loyal . Question figure

employees. Study the figure and answer the

followmg questions. . '
MU

A ’ Answer ﬁgui'es .

e | ool 9| d

v/
@w ® 7 © ®)
10. From the given answer figures, select the
. one in which the question figure is hldden/
Employees who are intelligent, hardworking embedded.
and loyal but not Post graduate are Question figure
represented by
w1 ® 5 (© 4 D) 3
Directions : In question nos. 7 and 8, one/two

statement(s) are given followed by two conclusion/ -
assumption, I and II. You have to consider the
statements to be true even if they seem to be at
varnance from commonly known facts. You have
to decide which of the given conclusion/assump-
tions, if any, follows from the given -statements.

Answer figures

" 7. Statements: All students are girls. ’ (A) - ® © (D)
' Some students are not talented. 11. A piece of paper is folded and cut as shown -
Conclusions : 1. No student is talented. below in the .question figures. From the
II. Some girls are talented. given answer figures, indicate how it will
{A) Only 1 follows appear when opened.
(B) Only II follows , Question ‘figures
(C) Both I and II follow ' T T <>
(D) Neither I nor II follows e >t
8. Statements: 1. Tigers do not fly. / ; ' !
, 2. Hens do not fly. ¢ e
Conclusions : 1. Tigers are birds. “, Answer figures ¢
. II. All birds cannot fly. b d
(A) Only I follows :
{B) Only I follows
(C) Either I or 11 follows _
(D) Neither I nor It follows {(A) B) H{O) (D)
SPACE FOR ROUGH WORK
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6. T < 7 sl 7 Fa@ = ad gigam, ‘arvf‘c'sr’_ ’9@?@3?:{&13:%%31@%%%%@
aRst, s &1 Erasi] S SEd & e | AT ?
mﬁaﬁ%!m@%mma&aﬁtﬁmﬁ%ﬁ, . A Il
Ul & SR T | o Tf"

e [ 9 | o
. 2 Tg) (B)ifﬁ <€) - (D) ‘
- : 10. IR It wwa@%aﬁgﬁq -
aﬁmﬁsﬁg&nm Rt o TwER ¥ ey - e v sl fifea #14 ,
ST 7 :
A 11 B 5 (C) 4 D) 3
e : mm'laﬁ'«:sﬁqaiwﬁmtm/m%
frax s frad /qafqam 1 @@ 1 e g ¥ =
TR |7 R @ 9 @ 9T 98 /3 g I IR st : .
=gt A firm g 1A S /3§ | s fofa Fe :
2 5 fiu w frsl /Eiqgae & ¥ - /aR-3 ' a1 [
ﬁ%m%m/wﬁm@ﬁmmm%/ w ?
aFa €, afe s 9 :
T gﬁmﬁ'aa"i'm"”g'a‘“ﬁ'% i | Y ®) © '(D)
firt : 1. S rerme i e # | | ll-’ﬁﬁwaﬂ?ﬁ@ﬁm“ﬂgg
II. 59 el i &1 T T T G & A
(A) ¥ 168 Fraca § & S famrd 2m 2
(B) Fae 116 arerar w1 InFfat
(€) 13 LA a8t Fraed & : K '
(D) 13RI =E 9t e =1dt Fraery & it st ],
8. FU9 : 1. WY S2A AE B | - ; E '
_ 2. W 3gat e € : .
freet . 1. =T wER ¥ ' EREICICR] :
IL. &t 35 751 a5 | N
(A) Faa 1TE o @ : .
B) Faw |1 uer fowean S :
(C) uT | 147 11 9 feemaT © . '
(D) T IR A& nadt e @ ° Ay (B) © (D)
T % g w
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T B3 or 2R T2
% 12. Ramu’s mother has three sons. The eldest one . Select the set of symbols which can be
is called omekari, the second one is called - fitted correctly in the equation,
twokari, Then the third son’s name is o2 8 4 2 6 3=32 Z
(A) Teenkari (B) Sandu g+4**’ P (A) %, —, + + B + x, =, - B2
(C) Ramu (D) Nokari g4 O F s D) = = ¥
' | Directions : In question nos. 20 to 22, which one

13. Ashok is heavier tham Gopal. Mahesh .is
lighter than Jayesh. Prashant is heavier than
Jayesh but lighter than Gopal Who among

them is heavies ?

(A) Gopal
(C) Prashant

(B) Ashok
(D) Mahesh

14. From the given alternative words, select the
" word which cannot be formed using the

letters of the given word :

KILOMETERS
(A) OIL (B) MEET
(C) TREES (D) STREET

15. In a certain code language, if the word
RHQMBUS’ is coded as TJQODWU then
how is the ‘word REC’{ANGLE’ in -that

language ?

of the given responses would be a meaningful
order of the following ? :

20. 1. Village 2. State
3. Nations _ 4. District
A) 1,2, 4,3 ® 1, 4, 2,3
(C) 2, 3,1, 4 (D) 4, 2, 3, 1
21. 1. Branches 2. Root 3. Trunk
4. Leaf 5. Flower
(A) 4, 1,3,2,5 (B) 2,3, 1,4,5
© 1,23, 4,5 (D) 431,254
\ 22. 1. Adulthood 2. Babyhood 0
3. Childhood 4. Infancy ¥
A 4, 3,2, 1 B) 4,2, 3,1
€ 4,1, 2, 3 (D) 4,3, 1,2

Directions : In question nos. 23 to 28, a series is
' given, with one term missing. Choose the correct
alternative from the given ones that will complete

) the series.
(A) TGEVCPIMG (B) TGEVCPING 23. CDDP DEER EFFT FGGV GHHX ?
(C) TGEWDPING (D) TGFWEPING (A) ZIH ’ (B) HIzZ ,S,
16. If in a certain code ‘Education’ is written as 24 gC) HJ HI'LZ' \"\ ‘;’/
365798214 then how ‘Conduct’ can - 1 g plopar
be written ? (A) pgqrst B) Tmnop
A) 7146578 6547871 (©) opars (D) bpqrs
(A) ®) ‘ZSI(IATNIEV
‘(C)1458776(D)6‘485_767 @A A ® B (C) C (D) D
17. If 7x=8k and Sy=6k then the value of | 26. (3}, (3)(3) 1. 2.4 '
ratio x is to y is ‘ coL 0 r R
(A) 20:21 @) 21:20 @ (3 ® () © . D) 6
(C) 35:48 (D) 48:35 . 27. 11, 12, 16, 25, ?
18, If 44+12=30, 77+14=61, 84 + 16 = 66 _(fl;sn.mm(m a, ‘g,(:’,)*f}/ (D) 49
then what should be for 44 +22=7 ' 28. 3, 9,31, 45, 7
(A 28 (B) 20 (C) 32 (D) 24 (A) 54 (B) 78 (C) 87 (D) 93
o % SPACE FOR RoaUGﬁ WORK T
o™ SV \)\"V\L/ vO y ‘1§QA/
, 3" © })& 2\ ,VS
& o 27 O ®
(1)/ \\o\/o\
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12, TP K AT K AW qA € ow=d a2 o oaw
- A, qER T A IRy ® | e O T A

T R ? ‘
(A) dFERY (B) €Yy
(©)y T - (D) AR

" 13. ST W e WO A SRRE R | WRY H a5
SN ¥ T 8 | WA 1 999 3y ¥ A 2
,ﬁﬁﬁm%m%lwﬁ%mﬁaﬁmm

frawr ® 7
(A) e B) FF
(C) wwria - (D) W

_ _14. ﬁrﬂi‘%{f@aﬁ?ﬁq‘rﬁ#?ﬁ amﬁﬁqsﬁﬁqwq
am%aaﬁmmﬁﬂé’fmmm

KILOMETERS
(A) OIL (B) MEET
(C) TREES (D) STREET

15. T fo¥iw @ig st & 9fe y== ‘RHOMBUS &7
Y HE TIQODWU & &Y 39 arei & ‘RECTANGLE’
""‘"ﬁ:ﬁqwaﬁs’m? _
(A) TGEVCPIMG  (B) TGEVCPING
(C) TGEWDPING (D) TGFWEPING.

- 16. afe o AT F1T § ‘Education’ ¥ 365798214
& &v# foEr 9T 97 Conduct 91 $ frar s

gEHATS ? _

(A) 7146578 (B) 654787
() 1458776(M) 648576
I H HA WO ?

A) 20:21 _(B) 21:20

(C) 35:48 (D) 48:35

18. afe 44 + 12 =30, 77+ 14 =61, 84 + 16 = 66 2

a1 44 + 22 = F frg w1 T =Ry ?
(A) 28 (B) 20 (C) 32 (D) 24

-

AglaSem Careers

19::1%8 4 2 6 3=3@rad il

= A S ww d ' e €
(AY x, — +, - B +, x, = —
(C) + ey X, — (D) - X, &, F

ﬁ?&r U T 20 F 22 9% # f e § A
-Wﬁmﬁ%ﬁﬁgqa@mmmarﬁn%?

20. 1. AW~ 2. U
3. O 4. foene
(A L, 2, 4,3 B 1, 4, 2,3
© 2,3, .1, 4 D) 4, 2, 3, 1
21. 1. @G 2. Wg 3. o
4, T 5. B
A) 4, 1,3, 2,5 @B 23'1,4,5
(© 1,2,3, 45 (D) 43,1,2,5
22. 1. Wgar ¢ T2 dE
3. FEGAY 4. IAUSHATY
(A 4, 3, 2, 1 B) 4, 2, 3, 1
(C) 4, 1, 2, 3 ) 4, 3,1, 2

e : uv d@ear 239 28 9 W gy R g, ﬁmﬁ
@qﬁ'@%lﬁqwﬁmﬁﬁﬂa@ﬁmgﬁm

Rl GEL T (ol ~
23. CDDP DEER EFFT FGGV GHHX “V P
" (A) ZIH B) HIIZ

(C©) HIY : (D) HLJZ
24.1_mumnopnopq;? - , f

(A) parst B) lmnop

(C) opars - {D) hpars

; " 25.RI1IATNTIE?

8
7
17. A% 7x=8k R Sy—6k ¥, T x. W y X

(A) A ® B (O C (D) D
2. (§). (4) (3). 1. % 4

@@ ®F o2 os
27. 11, 12, 16, 25, ? '

(A) 45 (B) 41 (C) 43 (D) 49
28. 3, 9, 21, 45, ? S

(A) 54 (B 78 (C) 87 (D) 93
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Y/

] N
Directions : In questioh nos. 29 and 30, select the .35, BOOK : LIBRARY - FILE @
missing number from the given responses. ‘ (A) COMPUTER (B) DATA &
2. . (C) FOLDER (D) BYTES (,/
) 1311512 . By
36.q:dzb:? 7 : i J‘
02]04 |05 T Wwp ®d (C) a. @b
04105} 08 '37. ABB : EGJ :: FHL : -,
30(65] 2 . : (A BDH (B) IMT (C) FHH ) JL*
(4) 64 (B) 69 (C) 65 - (D) 68 / 38. EV : 0\‘{
30 - @ \(C) © an %7
- 20 30 12- L p
G 39. 21 : 65 \
3 4 8 it _ : N
, [ {(A) 78 (B) 80 85 @D 95 \ ‘
80 7 116 : 40.. 17 : 102 :: 23 = ? N
(A) 120 (B) 60 (C) 100 (D) 140 (A) 112 (B)_ 138 (C) 216 (D) 413 L
31. Hospital is 12 km ‘towards east of Rupin’s 41, 25 : 36 - ? o é_ o
house. His school is 5 km towards south of (A 9:25 ¥ B) 16:25 h
Hospital. What is  the shortest distance C(©C) 25:49 / (\,. (D) 81:12 :
betwedn Rupin’s house and school ? 4 . {0 ‘ /
) (A) 16 km B) 17 km Directions : In question nos. 42 to 49, find the
K . odd word/number/letters/aumber pair from the
(©) 12 km (D) 13 km e_o
- . given alternatives. :
.7 32. Two cars started from a particular spot. The n
car A ran straight at the speed of 30 kmph 42. (A) state (B) glance b
for 2 hours north and then took a right turn. (C) look [ (D) hug \b]
t ran 40 km and again turmed right. It 43. (A) Analogy ‘. .(B) Reasoning. =~ - '-:
Qﬁ stopped after 30 km. The car B ran straight {C) Decoding é (D) Cycling L - \;&0
towards. east. at the speed of 20 kmph for 44. (A) Nephrology (B) Astrology o
2_ hours and turned left. It ran for 10 km (C) Pathology (D) - Entomology A
x and then stopped. How far were these two 45. (A) dfe ‘59}
S/ cars from ecach other when both of them - C C) acc‘ (BD) Pn’s‘f}l - '
(A) 17 km (B) -18 km 46. (A) OQTX (B) JMNQ T\ 4
(C) 19 km (D) 20 km (C) EGIN , (D) XZCG
Directions : In question nos. 33 to 41, select the 47. (A) NMOK (B) PKQI
related word/letters/number from the . gwcn alter- {C) RLSK (D) TGUF
natives. 48. (A) 997 , (B) 976 (C) 7J§ (D) 895 4[
\ 33. CHAIR : FURNITURE :: FORK : ? .
(A) SPOON ®) CUTLERY 9.3 ®F © (igj (D).
{C) CROCKERY (D) FOOD \ 50. Pick the odd number from the sequence
34. Compass : Ship :: Vaastu : ? ‘ ’ below
(A) Building (B) Flat 3,6, 7, 11, 15, 30
(C) Home (D) Land '(’A_ 7 ® 11 () 6 (D) 30.
SPACE FOR ROUGH WORK
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foder : w dEan 299k 30§ fe M i A gw

3 I g |
29. 13115 | 12
02 |04 | 05
04 |05 |08
3065 2 <
(A) 64 (B) 69 (C) 65 (D) 68
30. 590 30 12
3 4 8
80 2?2 116
(A) 120 (B) 60 (C) 100, (D) 140

31. T S F W F g it AR 12km? | gEw
TFel sreqaret & g i AR Skm® | wfw &
R R T F T yod FA g w7
(A) 16 km ®B) 17 km
" (C) 12 km (D) 13 km

32. s vy e & S RE 3 o s R | F R
A 30 kanph it a1t & FoL Y IR 29 aW

=it 3R iR 7% 31 4g | 97 40 km =+ sk
T & T 7T T | 30 km & g 9% & W |
®R B 20 kmph &1 oIfr & 252 7 @8 oF fewn
# AR =it AR o 9] 93 7 | 9% 10 km =0
' aﬂtﬁﬂwﬂélmﬁmaﬁaﬁmn{zﬁ%
Eﬂ?@i“@fﬁﬁ?ﬁfgﬁ ?

(A) 17 km . (B) 18 km

() 19 ki~ ' (D) 20 km
Ry . Tm e33R 4l s H A M Reei 9
mﬁﬁaa@/a&tﬁ/ﬁw’aﬁiﬁql
33. FET : AR W

(A) =¥ . (B) ErLn] Ve

(C) T 1)) sﬁm

34, T AH ;ARG ;7
(A) @7 (B) W (C) R

(D) Afr

35. O . JEEET - 9

AglaSem Careers

. FEd

(A) FFEK ®) ST

(C) B (D) ="
36.q:dx:b:? 7 ‘.

(A) p @) d (C).q D) b
37. ABB : EGJ ;; FHL : ?
' (A) BDH (B) JMT (C) FHH (D) JiL
38. EV: KP :: TG : ? :

(A) ZA (B AZ (C) ZZ (D) AA
39. 21 : 65 =2 31 - ?

(A) 78 (B) 80 (C) 85 (D) 95
40. 17 : 102 :: .23 : ¢ ' .
. @A) 112 (B) 138 (C) 216 (D) 413
41. 25 : 36 == 7

(A) 9:25 - (B) 16:25

(C) 25:49 (D) 81:121

ﬁ{'a'ar wmu%wwﬁﬁ&@ﬁm‘rﬁ%
fowmr wreg /v / reR /e T g |
42. (A) UFH e@Al ®) Ffeum

(C) =T (D) srferT
43. (A) WRE (B) wh
. (C) farem (D) ar=fed IaF
4. (A) T P B) wifaw '
(© FFtfmm (D) $e fmm
-45. (A) accdff | (B) prrsuu .
(C) mnnoqq (D) egghij
46. (A) OQTX (B) JMNQ
- (C) EGIN (D) XZCG
47. (A) NMOK (B) PKQJ
(C) RLSK (D) TGUF
48. (A) 997 (B) 976 (C) 778 (D) 895 .
49. (A) 8 ®) 87 (C) 111 (D) 96

so.ﬁwf%rﬁa‘amﬁﬁﬁw#wmwai:
2,3,6,7, 11, 15, 30
\.7 . ® 1

€) 6 () 30

JA 2015/Page 9
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5i.

" (C) Glucagon

52.

33.

55.

- 56..

57.

58.

59.

" (C) tan @

TEST - II :

The storage form of glucose is

(A) Insulin " (B) Glycogen

() Fructose
Thigmotropism is the response of the plant
to ‘

(A) Gravity
(C) Light
Root hairs are produced from

(A) trichoines (B) trichoblasts
{C) rhizodermis (D) epidermis

{B) Water
(D) Contact ™

Second Ozone hole was detected over
(A) Antarctica

(B) Artica .

{C) Sweden

(D) Northern hemisphere

Glycolys1s during fermentation results m net
gain of .

{(A)y 1 ATP
(C) 3 AXPs

(B) 2 ATPs
(D) 4 ATPs

The disadvantage of self-pollination is

(A) sceds are less in number

(B) no dependence of pollinating agents
(C) mechanism is too simple

(D) no wastage of pollengrains

By increasing the intensity of mcident light
on the surface, the photo electric current

(A) increases

{(B) decrecases

(C) unchanged

(D) increases initially and then decreases

The Phenomenon of light spiltting into seven
distinct colours when it passes through prism
is

(A) diffraction
(C) dispersion

(B) poIaﬁsation
(D) reflection

A block placed on an inclined plane of slope
angle @ slides down with a constant speed.
The coefficient of kinetic friction is equal to
(A) sin® B) cos @
(D) cot@

JA 2015/Page 10

60.

61.

AglaSem Careers

GENERAL AWARENESS -

A plumb bob is hanging from the ceiling of a

‘car. If the car moves with an acceleration a,

the angle made by the string with the vertical is

(A) sin-{fiJ (B) sin‘l(g]
g S o\a

©) tan*f(ij (D) tan-l[ﬁJ

g a
Who is called the “Father of Indian
Cinema’ ? :

- (A) Raj Kapoor

62,

63.

64.

| 65.

66.

{A) Nepal
{C) Bangladesh

(B) Dilip Kumar
(C) Mehboob Khan
(D) -Dada Saheb Phalk‘e ‘

Name the first Indian woman to climb
Mount Everest

(A) Santosh Yadav -

(C) Rita Faria

(B) Bachhendri Pal -
(D) 'Leela Seth

Which IPL Team won the eighth edmon of
the Indian Premier League ?

(A) Mumbai Indians M\

(B) Chennai Super Kingg~
(C) Delhi Daredevils ~ V4
(D) Kolkata Knight Riders
Nehru Trophy is associated with which sport
in India?
¢{A) Football
(B) Cricket .

(C) Hocky

(D) None of the above

Aung San Swu Kyi, a prodemocracy
campaigner, is from which of the following
countries ?

(B) Myanmar
(D) China
Usain Bolt is famous as
(A) an astronaut (B) a boxer
(C) an athlete (D) a cricketer



51.

52.

53,

54.

- 55.

56.

AglaSem Careers

qO&T0T — 1 : | TR

60. TF FR £} Tq ¥ UF whw aiF ek @ R | A

IS HT HATIF WIS T 8 7

(A) T (B) TTZSRISH
(C) i - (D) W
i forad wiy aqw R sifufern 2 2
(A) e B) ¥
(C) s (D) U

YA frad S 8 & 7

A) == IW ®) T FRSF

(C) & == (D) s=r ==
@ s fog w5t R w2

(A) sierfdsr (B) anfdar

(C) w&q (D) IO wramef

m%mmﬁﬁ%ﬁa%mw

Foreemt fe A ST R 7

(A) 1 ATP (B). 2 ATPs
(C) 3 ATPs (D) 4 ATPs
CARATT - § 9491 &y 2 2 7

(A) =it b "o =7 gR 2

) Wmﬁﬁéﬁﬁmaﬁf'@aﬁ

(©) Trafafy seg axa ot

- (D) Wt i Y2 SRaEmEr a9t Bt |

57.

58.

.59,
- T & ) o et § | i aor =5
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mwamﬁamrﬁﬁmaaﬁﬁmr |

aga G

(A) g IR g

B) Wz IRt E _

(C) siafda =t 2

(D) T | gt ® s e weat 2

ﬁw%{ﬁﬁqimﬁﬁa#ﬁﬁﬁﬂ?ﬁmraﬁ ‘

afaeA T Y w4 wer srar & 7
A faad= - (B) AR
© qftgaor (D) 9ade

aﬁma%m%mmwr@@m@
ik foras =R B ?

(A) sin @ (B) cos @ .

(C) tan @ (D) cot®

o A

61.

62.

63.

66.
- (A) TH aRe gt

FR g RO F 9 W 2 A H S TR T

FATAT 0T 8
(A) sin_l(i] ®) sin‘l[fSJ
_ Az \a
(©) tan-l(_ﬂ} (D) tan-‘(—“’i)
£ e
(A) T FR ®) Tt gar
(C) ¥egs @F (D) T EIRST Ik

mmwmwmmmm

mazn%?
(A) Tty A @) aﬁéﬁﬁm
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- 67,

68.

69.

Which of the following

is the moming
‘Raag’ in music ?
(A) . Sohini (B) Bhairavi
(C) Sarang (D) Malhaar

When was the first All India Postage Stamp
issued ?

“(A) 1854 (B) 1858 /
(C) 1850 (D) 1856

In which couniry was paper currency first
used ?

(A) Indial (B) Egypt 4

{C) China (D) Japan

70.

71.

72.

73.

4.

75.

"{A). thermometer

The murder of Archduke Ferdinand and his
wife tripgered off which of the following |

events ?

{A) Cnmean War

(B) Balkan War *

(C) First World War
(D) Second World War .

.com represents 7
(A)
®B)
©)
(D)
IKE
(A)
®)
©
(D)

Communication domain ¥
Educational domain >
Commercial domain
Government domain &

stands for

‘Internet Key Exchange ]
Information Key Execution %’_
Information Key Exchange .
Infrastructure Key Encryption

'\

When salt is added to water, the boiling point ]

of water is
(A) Lowered
(C) Increased

- (B) Unaffected
{ (D) Constant

The gas dissolved in water that makes it
acidic is , .
(A) hydrogen ¥ " (B) nitrogen o @9
(C) carbon dioxide ) (D) ammonia >

The hydrogen ion concentration of a solution
is measured using a

X~ By .pH meter ~

| (C) . hydrometer Ken (D) barometer ¥

JA 2015/Page 12

76.

717.

78.

79.

80.

by hazardous wastes is .

81.

- (A)

| o

82.

83.
R

(©)

(©
(D)

AglaSem Careers

Non-bonding valence electrons are

(A) Involved only in covalent bond forma/

_ tion i
(B) Involved only in ionic bond formation /
Involved in both ionic and covalent(
bond- formation

Not -involved in cova_lent bond formation /

(D)

When is the World Earth Day celebrated ?
(A) 4 April (B) 22 April

(€) 1 May (D) 23 March
World “No
globally on
(A) 31 May
(C) 15 June

Tobacco Day” was observed

(B)
(D) 20 June

2 June

The greenhouse gases, otherwise called radio-
actively active gases include

(A) Carbon dioxide (B) CH,
(©) N,O (D) All of these

The most serious environmental effect posed
-

Ay
®)
©)
®)

‘Which Delhi Sultan resorted to price control
and rationing ?

Balban

Muhammad-bin-Tughluq o

Bahlul Lodi /

Alauddin-Khilji {

air pollution  }—
contamination ‘of ground water )%
increased use of land for landfills 2

None of the above

B)
<)

The Maratha ruler Shivaji ruled his kingdom
with the help of a Council of Ministers called

{A). Ashtapradan (B) Ashtadigajas
(C) Navarathnas - (D) Mantnpanshad

Ms.

/

Florence nghtmgale was assoclated with
Seven Years War
Thirty Years War
Crimean War
‘Hundred Years War

B)
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74.
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-84. Who among the following Gupta empcror

was known as ‘Vikramaditya® ?
(A) Samudra Gupta ©~ —
(B) Kumar Guptal ~
(C) Chandra Gupta I
(D) Chandra Gupta II )
85. The finely painted cotton fabric made in
Golkonda was called
(A) Calico (B) Muslin
(C) Kalamkari (D) Palampore -
86. Which is the best type of cotton grown in
the world ? '

(B) Medium staple ,
(D) Thick staple ~— ‘

(A) Long staple
(C) Show.staple

87. Which one of the following is first multi-

purpose project constructed in India ?
{A) Rihand (B) Thungabadra a\
(C) Farraka Barrage (D) Damodar

" the symbol of (WWF) World
Wildlife Fund ?

What is

(A) Red Panda (B) Rhododendron GL
(C) Bear (D) White Tiger J
Market Gardening comes in this category

(A) Horticulture

(B) Monoculture

(C)  Subsistence farming /

(D) Serculture -
90. A deep or frencﬁ in the ocean floor is called
(A) Ridges -
(B) Crest
(C) Trough

(D) Continental Shelf

91. Name the co-operatwe society that prov1des
housing loan facility at reasonable rates

(A) Credit co-operatives

(B) Housing co-operatives [
(C) Consumer co-operatives

(D) Producer’s co-operatives

Name the biggest employer in India

(A) Steel Authority of India Ltd (SAIL)
(B) Post & Telecom Department .

(C) Food Corporation of India (FCI)

92.

(D) Indian Railways

/
i
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‘94,

95.

(B) Head of the state and Head of the\\(

97.

98.

© (B) Quasijudicial body [/

. 100.

(C) Sarvodaya

€C) Perfect competition

AglaSem Careers

. Which of the fol]owmg is an allied activity of
agriculture ?

(A) Livestock ~ )/

(B) " Small Scale Indusng . \/
(C) Money lending 3\

(D) Insurance 3

Disguised unemployment means

(A) Working as Self-Employed _&-
(B) Not working whole day o
(C) Marginal Productivity is zero ™
(D) Production is less o

i

In the presidential system of govemment the
President is
(A) Head of the state

Cartel is a part of
(A) Monopoly
(B) Otigopoly

(D) Monopolistic competition

Government S
(C) Head of the Government J
(D) Head of the Executive v

The Chief Election Commissioner of India is

appointed by -

(A) Chief Justice of India
(B) Prime Minister I
(C)- President S

(D) Parliament

The Election Commission of Indla is
(A) An independent body V4

(©) Quasi-legislative body * o

(D) Executive body

Articles 23 and 24 of the Indlan Constitution
deal with pr

(A) Right against Exploitation .o

(B) Right to Freedom e

(C) Right to Freedom of Rehglo

(D). Right to Educatlon \/ ’y ‘

Which of the following |deolog:ies aims_at.the
o a4

- spiritualization of politics ?

-~ {A) Marxism B) Sociahsm

(D) 'Pluralism / .
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TEST - IIl : GENERAL ENGINEERING (ELECTRICAL)

101. The reactive power generated by a synchro-
nous alternator can be controlled by
(A) changing the prime move input
(B) changing the alternator speed
@ changing the field excitation
(D) changing the terminal voltage
102. The per phase DC armature resistance of an
alternator is 0-5£2. The effective AC armature
resistance_would be about ;
(A) 0250 (B) 050
@& 0750 D 12°
103. Base load of a power station stands for
(A) 2-4 hours/day (B) 4-8 hours/day
(C) 8-12 hours/day @ 12-24 hours/day
104. If the power factor is high, then the con-
sumer maximum KVA demand
(A) increases (B) decreases
\.. remains constant (D) becomes zero
<A105. A circuit breaker is rated as follows:

e W~
1500 A, 33 KV, 3 sec., 3-phase oil -c1rcu1§ - 3

109. What is the maximum number of point of
light, fan and socket-outlets that can be
connected in one sub-circuit ?

(A) Four (B) Six
-' Ten (D) Twelve
110. In de operation of fluorescent tube, the life of
the tube
(A) increases by about 80% as that with ac
operation

@ decreases by about 80% as that with ac
operation

(C) remain same

(D) may increase or decrease

111. For painful shock, what is the range of

electric shock current at 50 Hz ?
(A) 0-1 mA (B) 0-3 mA
@ 3-5mA (D) 5-10 mA
112. The permissible voltage drop from supply

& Jerminal to any point on the wiring system
uld not exceed

breaker. Determine the making current. o 6-_:0?., (A) 4% + 1 volt @) 3% + 1 volt
(A) 15 KA (B) 35 KA KT € (© 2%+ 1volt (D) 1% + 1 vok
(C) 89 KA @ 110 KA w.§§(o&3. In batton wiring the cables are carried on
106. Which of the following fault is coming @' ,EF% seasoned ‘teak W°°d perfectly slmigl:':t and
symmetrical fault ? N E_-“' é\ well vamnished teak wood batton of thickness
(A) LG fault (B) LL fault  &,Of  motless than
(C) LLG fault o) LLLG fault = g ® 1 (B) 2 cm
107. If span length is doubled with no change in (©) 3 cem (D) 4 cm

other factors, the sag of the line will become

114. For cleat wiring and 250 volts supply, the

(A) 05 time (B) 2 times cables will be placed apart centre fo
' A ey (D) £ times centre for single core cables
108. An alternator is supplying a load of 300 kW W o om {5 3
at a power factor of 0-6 lagging. If the power @ 4cm (D) 45 cm
factor is raised to unity, how many more kW 115. The aluminium conductor of size __ is
can alternator supply ? used for a subcircuit in domestic wiring.
(A) 100 kW (B) 150 kW (A) 1/1-22mm @ 1/14mm
@ 200 kW (D) 300 kW (C) 1/1-8mm (D) 1224 mm
SPACE FOR ROUGH WORK
3
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@ Both balanced and unbalanced circuits
(D) -None of the above :
120. In a three phase system, the volt ennp8‘\Q
 rating is given by \er
(A) 3V, I & v, ee‘oﬂw-?
© V1, D) V1, ey
121. In a parallel RLC circuit if the lower cut-BeF
frequency is 2400 Hz and the upper cut-off
frequency is 2800 Hz what is the bandwidth ?
400 Hz (B) 2400 Hz
(C) 2800 Hz (D) 5200 Hz
122. The errors in current transformers can be
reduced by designing them with
(A) high permeability and low loss core
materials, avoiding any joints in the
core and also keeping the flux density
to a low value
using primary and secondary windings
as close to each other as possible

(B)

(C) using large cross-section for both
primary and  secondary  winding

-, conductors

@ Al of these

b:\'b

116. If in an RLC series circuit, the frequency is 123. A CRO screen has ten divisions on _the
below the resonant frequency, then horizontal scale. If a voltage- signal
(A) X, =X, (B) X. < X, 5sin(3141+45°) is examined with a line
i @ XX (D) None of the above base setting of 5msec/div, the. number of
117. An RLC series circuit has R=100, L=2H. cycle of signal displayed on the screen will
What value of capacitance will make the be
circuit critically damped ? (A) 05 cycle @ 25 cycles
(4) O02F @ 008F (C) 5 cycles (D) 10 cycles
(C) 02F (D) 04F '
118. When a series RL circuit is connected to a 124.
voltage source V at t=0, the current passing
thmug;x the inductor L at t=0" is ONE TECI"}
O
¥ il - . jtute T
@) 3 (B) infiniteg ooy \nsv-}h ak, JAIBUL
14 Yot:?;-;e?' , 940
— 8
.) Zero ; (D) T 982
119. Three wattmeter method of power measure-
ment can be used to measure power in
(A) Balanced circuits
"(B) Unbalanced circuits RS § &

«ec:,tli@’t&lﬂaxweﬂ bridge as shown in the figure
: ,@Q e hlues of resistance Rx and inductance
o

R
\\:B?bal-ancing the bridge. The component values

“‘ﬁ of a coil are to be calculated after

are shown in the figure at balance. The
values of Rx and Lx will respectively be
@ 375 ohm, 75 mH
(B) 75 ohm, 150 mH
(C) 375 ohm, 75 mH
(D) 75 ohm, 75 mH
Creeping in a single phase induction type
energy meter may be due to
@ over compensation for friction
(B) over voltage
(C) vibrations
(D) All of these
Which instrument is used to measure the high
resistance ?
(A) Kelvin’s Double bridge
(B) Wheatstone bridge
(C) Carey-Foster bridge
@ Megger
e —

125.

126.

T S
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128.

129.

130.

131.

132.

The current [ in the electric circuit shown is

® 17A (B) 1A
(©) 27A (D) 3-7A
The superposition theorem is used when the
circuit contains
(A) a single voltage source
@ =2 number of voltage sources
(C) passive elements only
(D) active elements only
Thevenin’s theorem cannot be applied to
(A) active circuit (B) linear circuit
@ nonlinear circuit (D) passive circuit
A node in a circuit is defined as a
(A) closed path

junction of two or more elements
(C) group of interconnected elements
(D) open terminal of an element
When a source is delivering maximum power
to the load, the efficiency will be
(A) maximum (B) below 50%
(C) above 50% ® %

1=15204 4

150 50 1,0\04}3‘

J15Q

] : B
For the circuit shown, the Norton’s equivalent
current source at terminals 4 & B is given by

@ 10204 (B) - 20204
(C) 16£36-864 (D) 14/36-864

134.

135.

136.

1KQ

& t

The voltage across the 1k resistor of the
network shown in the given figure is

(A) 6V (B) 4V

@ 2V D) 1V

The internal resistance of a voltage source'is
1042 and has 10 volts at its terminals. Find
the maximum power that can be transferred
to the load.

(A) 0-25W (B) 25W
@ 25w (D) 5W
Mutual inductance between two coils is 4 H.

If current in one coil changes at the rate of

2 A/sec, then emf induced in the other coil is
8V (B) 2V

© 05V (D) 50V

If the number of tumns of a coil is increased, its

inductance :

(A) remains the same

@ s increased

(C) is decreased

(D) None of the above

137. The e.mf induced in a coil of N tums is
¢~ given by

TN d¢
p . B) N—
e () = (B) 5
d¢ dt
o T N—
® -~ @A

138. When the current through the coil of an

electromagnet reverses, the

(A) direction of the magnetic field reverses
(B) direction of the magnetic field remains
unchanged

magnetic field expands

magnetic field collapses

(©)
@
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139. A short shunt compound generator supplies a
load current of 100 A at 250 V. The generator
has the following winding resistances :
shunt field = 13042, armature = 0-142 and
series field = 0-102. Find the emf generated if
the brush drop is 1V per brush
(A) 2620 wvolt (B) 262:2 volt

(C) 2720 volt ®) 2722 volt

31
146. Lockcd"rotor current of a shaded pole motor
is
(A)
(B)

equal to full load current
less than full load current
@ slightly more than full load current
(D) several times the full load current

147. Each of the following statements regarding a
shaded pole motor is true except

140. As the load is increased, the speed of a dc (A) its direction of rotation is from
st]:;nt_ motor 450 E TEcH . yn.;haded to shadc;lﬁ portion of poles
( Increases proportionately tute Fof J.EN. (B) it has very poor efficiency
'(B) remains cor%stant es t inst rak, puf 1((3) it has very poor power factor
(C) increases slightly Ton“- pPha 9480 3861 @ it has high starting torque -
® reduces slightly 9328747576 148. Synchronous impedance method of finding
141. The Ta Vs Ia graph of a dc series motor is a voltage regulation of an alternator is called

(A) parabola from no load to over load
(B) straight line throughout
(C) parabola throughout
@) - parabola up to full load and a straight line
at over load
142. The purpose of starting winding in a single-

phase induction motor is to

(g) Reduce losses o o 149. Which of the following motor is non-self
(B) Limit temperature rise of the machine starting ?
& Produce rotating flux in conjunction with (A) Squirrel cage induction motor
o) E”m Wm’dmg g Slip ring induction motor
LAICARE; 10sses . Synchronous motor
143. Which of the following motors is used in (D) DC series motor
mixies ?
(A) Repulsion motor (B) Reluctance motor 150. A sahent—pole synchronous motor is operating
; 3 at 7 full-load. If its field current is suddenly
(C) Hysteresis motor @) Universal motor . :h d off, it would
144. The motor used on small lathes is usually T ete
$ (A) stop running
(A) universal motor >
8) DE. Rkat dacker @ continue to run at synchronous speed
e - (C) run at sub-synchronous speed
(@ single phase capacitor run motor b o ot e i
(D) 3-phase synchronous motor 'y e
145. Which of the following motors jg a- ‘151. A 10 pole 25 Hz alternator is directly coupled
for tape-recorders ? - ke yau %ﬁ‘\ to and is driven by 60 Hz synchronous motor
(A) Shaded pole motor 7 \“5“:\ \a"* 505 then the number of poles in a synchronous
Hysteresis motor e, w® motor are
o T o © 161 .
(C) Two valve capacitor mu (A) 48 poles (B) 12 poles
(D) Universal motor @ 24 poles (D) None of the above

pessimistic method because
(A) it is simplest to perform and compute
@ it gives regulation value higher than is
* actually found by direct loading
(C) armature reaction is wholly magnetising
(D) it gives regulation value lower than is
actually found by direct loading

“30 .
V2% P so 4 A0 T ol
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152. If two capacitances C; and C, are connected

in parallel then the equivalent capacitance is

given by
A) G B
A) GG (B) G
GG
C) ———— CiL
(,_) e ® c:C
153.
P A
10
2Q 20
1Q
Qo VWAL B

For the circuit shown find the resistance
between points P & Q.

94535”8811
158. How much energy is stored by a 100 mH

inductance when a current of 1 A is flowing

through it ?
(A) 0517 @ 0057
(C) 0-0051] (D) 5017

159. What is the Power consumed by the resistor
of 202 connected across 100V source ?
@® 00w (B) 50 W
(C) 100W (D) 300w

160. A linear circuit is one whose parameters
(A) change with change in current

(B) change with change in voltage

@ do not change with voltage and current

(D) None of the above

161. An active element in a circuit is one which

® 12 (B 22 (© 32 D 42 @ supplics energy
154. A resistor is connected across a 50 V source. ®) re‘,ce‘ives cneigy

The current in the resistor if the colour code (C) dissipates energy ..

is red, orange, orange, silver is (D) both receives and supplies energy

Eg ilf’:nA g; 312 4’“;; D 162 1f 750uA is flowing through 11kQ of

O 3 resistance, what is the voltage drop across the

155. A primary cell has an em.f. of 1-5 w 'Q resistor ?

short circuited, it gives a current @ &@'@%‘ ® 325V (B) 825V

internal resistance of cell is /bo Q) ©) 146V (D) 146V

(A) 450 (B) 20 g\“*‘?«‘\ :

(©) 020 @ 0525

A

156. Electrical resistivity p is &

‘ Low for copper and hlgh for alloy

(B) High for copper and “low for alloy

(C) Low for copper as well as for alloy

(D) High for copper as well as for alloy
157. The rate of change of current in a2 4H ;

inductor is 2 Amps/sec. Find the voltage - :

HESE R Find the node voltage V,. :

@® sV (B) 08V @ v (B) 5V

(C) 2V D) 16V (C) 566V (D) 6:66V
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164.

165.

166.

167.

168.

169.

170.

171.
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The minimum area of cross-section of a three
and half core cable should be

@® 30 ot (B) 40 cn?
(C) 50 cm? (D) 60 cm?®

The acceptable value of grounding resistance
for domestic applications is

@ o050 (B) 10Q

© 150 (D) 20

Humans are more vulnerable to electric shock
current at

@® 40 Hz (B) 45 Hz

(C) 48 Hz (D) 50 Hz

A 200V lamp takes a current of 1A, it
produces a total flux of 2,860 lumens. The
efficiency of the lamp is

(A) 99 lumens/W (B) 89 lumens/W
(©) 109 lumens/'W @@ 14-3 lumens/'W, ¢,

NG

The unit of luminous flux is @
(A) steradian (B) canagQ W R
@ lumen (D) lu:%ers‘ (\*? 16-

%a 110V
ng element

An electric heater draws 3-5 A
source. The resistance of the heatin
is approximately

(A) 3850 (B) 3850
© 310 0 310
During the resistance welding, the heat
produced at the joint is proportional to

@ ’r (B) _Voltage

(C) Current (D) Volt-Ampere

An arc blow is a welding defect that is
countered with the help of carrying

. the arc welding using AC supply
(B) the thermit welding

(C) the arc welding using DC supply
(D) the resistance welding

173.

174.

177,

9460535811 ;
172. The electric drives posses the following

drawback

(A) not available with various rating
(B)
®
(D)

An amplifier has a gain of 10,000 expressed
in decibels the gain is

(A) 10 (B) 40 @ 80 (D) 100
Silicon has a preference in IC technology
because

(A) it is an indirect semiconductor

(B) it is a covalent semiconductor

(C) it is an elemental semiconductor

@ of the availability. of nature oxide SiO

requires a continuous power supply
requires hazardous fuel requirement
not adoptable to various environments

175. To operate properly, a transistor’s base-emitter

<« Jjunction must be forward biased with reverse

19\,{ hias applied to which junction ?

(A) Collector-emitter (@) Base-collector
(C) Base-emitter (D) Collector-base

176. With the positive probe on an NPN base, an

ohmmeter reading between the other transis-
tor terminals should be

(A) Open (B) Infinite

@ Low resistance (D) High resistance
In Bipolar Junction transistors, the type of
configuration which will give both voltage
gain and current gain is

(A) CC (B) CB

@ CE (D) None

178. To prepare a P type semiconducting material

the impurities to be added to silicon are
. Boron, Gallium

(B) Arsenic, Antimony

(C) Gallium, Phosphorous

(D) Gallium, Arsenic
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179.

180.

181.

182.

183.

184.

The unit for permeability is
@ Woidixm (B) Atm
(C) Auwb (D) Wb

If the co-efficient of coupling between two
coils is increased, mutual inductance betwg
the coils

is decreased
is increased
remains unchanged 982874
changes depends on current only

@A)
®
©)
®)

The magnitude of AT required to establish a
given- value of flux in the airgap will be
much greater than that required for iron part
of a magnetic circuit, because

046053

rJ.E0- (D) Sine wave with period of 10 msec

‘p‘sﬂﬁ. In a pure inductive crrcmt if the supply

has a period of 5 ms, and other has a period
of 10 ms. Which sine wave is changing at a
faster rate ?

@) Sine wave with period 2 ms

(B) Sine wave with period of 5ms

(C) All are at the same rate

frequency is reduced to 2, the current will
(A) be reduced by half
@ be doubled
(C) be four times as hlgh
(D) be reduced to one fourth

187. There are 3 lamps 40 W, 100 W and 60 W.
To realise the full rated power of the lamps
they are to be connected in

(A) air is a gas (A) series only @ pamllel only
(B) air is a good conductor of magnetic flux (©) sericsparallel (D) seties or parallel
@ air has the lowest relative permeability . o S

(D) iron has the lowest permeability ® L@_l

The area of the hysteresis | will be I A, : ™

for one of the folifmng maot?;la]szm ??Eig ;‘pﬁ:\swp%y

(A) wrought ion  (B) hmhégenn‘-g‘ é‘:sagﬁ R

@ silicon steel (D) soft EEEBT 47676' B_

A current of 2 A passes thmugh a coil of
350 turn wound on a ring of mean diameter
12cm. The flux density established in the
ring is 1+4 wb/m®. Find the value of relative
permeability of iron.

® coo0

) 191
(©) 1200 (D) 210x10°

A bar of iron 1cm’ in cross-section has
107" wh of magnetic flux in it. If pr=2000
what is the magnetic field intensity in the
bar ?

(A) 398x10°* AT/m
(C) 796x10° AT/m

@ 398ATIm
(D) 398x10* AT/m

Two lamps, Green(G) and Red (R) are

connected in a motor circuit as shown in the

figure. The conditions under which the lamps

will burn are, (supply is available at terminals

A& B)

(A) Green lamp burns always, red lamp
burns only when switch § is closed

(B) Green and red- lamp burns when
switch § is closed

(C) Green lamp will not burn always, red
lamp bums only when switch § is
closed
Green lamp burns only when S is open
and red lamp bums m}]y when § is
* closed.

185. One sine wave has a period of 2 ms, another
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189. Modern electronic multimeters measure resisi

190.

191.

192.

193.

194.

ance by

(A) using a bridge circuit

(B) using an electronic bridge compensator
for nulling

Q forcing a constant current and measuring

the voltage across the unknown resist-

ance

using an electrical bridge circuit

(D)

If a dynamometer type wattmeter is connected
in an ac circuit, the power indicated by

196.

wattmeter will be n.

(A) Volt ampere product 0“ 't ]
\\U ) 13

@ Average power ot L \0S nat? \t

(C) Peak power B ;61619 197,

(D) Instantaneous powergsz%'f

A 150 V moving iron voltmeter of accuracy
class 1-0 reads 75 V when used in a circuit
under standard conditions. The maximum
possible percentage error in the reading is
(A) 05 (B) 10

@ 20 D) 40

A dc voltmeter has a sensitivity of 1000 £2/volt.
When it measures half full scale in 100V
range, the current through the voltmeter will
be

(A) 100 mA (B) 50 mA

(C) 1 mA @® 05 mA

A Lissajous pattern on an oscilloscope has
5 horizontal tangencies and 2 wvertical tan-
gencies. The frequency of the horizontal input
is 100 Hz. The frequency of the vertical input
will be

(A) 400 Hz
(C) 4000 Hz

@ 2500 Hz
(D) 5000 Hz

The no load input power to a transformer is

practically equal to loss in the
transformer.

@ Ion (B) Copper

(C) Eddy current (D) Windage

198.

199.

200.

g%m"pnmary and secondary windings of a

transformer are wound on the top of each
other in order to reduce

(A) iron losses

(B) copper losses

(C) leakage reactance

@ winding resistance

Leakage flux in a transformer occurs because
(A) iron core has high permeability

(B) air is not a good magnetic insulator
@ applied voltage is sinusoidal

(D) transformer is not an efficient device

The no load primary current [, is about
of full load primary current of a

transformer.

@ 3-5% B) 15-30%

(C) 30-40% (D) Above 40%

Which of the following Braking is not suitable
for motors ?

(A) Dynamic braking

(B) Plugging

(C) Regenerative braking

" Friction braking

An eight pole wound rotor induction motor
operating on 60 Hz supply is driven at
1800 rpm by a prime mover in the opposite
direction of revolving magnetic field The
frequency of rotor current is

(A) 60 Hz (B) 120 Hz
@ 1s0Hz (D) 200 Hz
If stator voltage of a squirrel cage induction

motor is reduced to 50 per cent of its rated
value, torque developed is reduced by how
many percentage of its full load value ?

(A) 50% (B) 25%
@ % D) 57-7%
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